-~ e

Frad 2 LAY IR ER BT RIINELRS 28 PRI

DGF Y s A

J.

AR E K

BB AR F )

LS g A A8/ & 3R AR 1 it 2. AL B E d 8 B AT
SHMEAAG TR A L E B IF 45 W #Fadn :
S FVEEFELE FH20% 0 £ 208 -
ERR S ANREIE
B F A g9 pE
FREe R AP 2 LW HEL - ERARTHAFEPN AP CEFAEEY T 0 KPP B NS g B 52 g
PSR I FREEEMAN TEHE R ) M2 BRI NI EAFIFELIFR D TAETE, c B S FARY
.Alﬁ'/:\,, ’Frrb':? 5\7}%1@_ ﬂxigiﬁig’?_}%‘zg Q’{% m1+£7]]:‘7 NL—.J ’%;L%;_ﬁ};mgﬂg*ﬁ_r'/—rj%:
W A2 R T EfRAR R | - ~fe A R T R
W OABRLRFEAFTER |- SRS B Maerh s T EATERE § B
W BIERE T kg 2t | 2 9K ST LT e
W B2 Fa i g | v~ BV ARG FV T oL 37
BBEiasBigt24a |7 BV HELTE 2EHT
O ClEmfseg 2w
W C2xsp e By s ir
[ 035 =< g muanjiz




o AEHEL2 FARGFE R R GV AR

AT EES 2 F A1)

€

£3 Ry

B v B # A4
e R

15k ek L HREE IEANE o
2.1 & A 2.4 s
TR AR

1§ bl

2.Gf REH

% 3“3

ok gEEY L TpEs I
2. i 47 A 2.BF H
g iR s

P =R W E ST 1.p & RIAT
2. R 2.3 3Ryt




N L i )

KEH g ¢
' RS By N HA/ilofpsmt ) F| S8 KETR/FY R | FFL2 S | BrRE =
H A g si(l) 4 |1 pEi(-+) | cHEFEE | RAEL | R wBgE
1 7% @i 7 sk 2. 35 (2002 | KEmiE KB R
2. L@ R B EFET | ) ek KEGFY Y
(1) Yi=1c X a DRV EL | FRERF PR T)
VT (2) Z§=1d ¥ oo B B Lzl ftp
n- -’/71‘{:/9 (3) Xk=1(ax+by) 26(2) » 73-82 -
g [EIIPRE NS5 E L S )(4) Y, ai X by S b -
4 b s 2 54 B Y n 2 ZT%F\-:' E"’ﬁ,{ .
2/16 tho g | ffe F L (30 AR AW Dkar k
g |porr ko | expe
i) R A AN 2 Rk
o ﬁi‘g '/»/?lf?iﬂ-‘ FFE %E °
pou | EooumE |N-8-6 %1tk
52 S -
2026~3/1 | A EEIHE |[FH > a3
(2/28(= )*= NE A B g
) FEAR L - B
TE o
Bwg | VT R LRSS SAEES 20) 3 |1 psEH(-*) | TEFL | FRkT
- 5 , [N-8-5 % ¥ & - o - P » R PR
A I fope s il ELEE TR L 2. GSP50 8P | it
! = o | M e s ] 5
ENEEL S o4 &P ok gx.f'\‘f\."’);\l : Cx Bl N '3 b -
3/11~3/15 | & m & 2 2. BA5% R GSP 4] i' W R




LR s
3/18~3/22

u
AN

2B
W

=
T -

o b

W v
ey mlo A e

(S
dopo0 lEO N B

Jop Fo BE

‘_
=
-
[

AT M

FFB %E °

N-8-6 & 1t #c
7 E L i

i c LN 2

2] A
B~ a3t
B E v
—_ _ﬁ;jﬁ o

(1) Sierpinski triangle

(2) menger sponge

O | O

O 0
O0|0

ERT B

@)

(4) 7
(: s&)
- 1Ix(m—1) & >
113’?%"* 1Xx1%8 1x2 )

GERER IXx(n—1)

E’n—vE:'_’ ’1/




Ty
3/25~3/29
GE£ 4 i)

ENEN F
4/1~4/5
@a(x )23
§AT i
4/5(7 )& %=
B H e k)

¥4
4/8~4/12

s-IV-13 12 iz
R i
1T AT D
PSR UL )
oA RO (E

B -

§-8-12 = 1%
Bl e e

LA R
ARE ] -
N R
Ry OROARLTE
ip Teh? &

By 2T

BT S
ER )
A e eI T
D Sk Bk el

B o

H = ! = iR
1. = RITR L
(1) = % & 40t B :
Squaring the circle ~
Trisecting an angle ~
Doubling the cube
2) 15 & x3 20 & % >
"ERHEE (%
), fe TR BEn
Fl AR (4hR) ) 0= R
T8
2. WL ET oMY M
B R M G
3. 2 A2 ENag R
TG A EALLF, B
Fy>» 23 %d P2
&
E = {P|PF, + PF, = d}
E = {P|PF; — PF, = d}
E = {P|PF, X PF, = d}
E = {P|PF, + PF, = d}

.

B (- #)
B % i 3R
GSP5.0 % %

(2018) - = £ 7
EER W S U
R fagist ' i
e 2RFES
58 B i¥ 5 o

=354
KA Bir
R v
it

Ty

§ 4
4/15~4/19

-
4/22~4/17

Lo
4/29~5/3

s-IV-13 12 2
I FY
e (T A2 e
feit o 3
F AN RO T

B

S-8-12 = AL iT [l
Ll L
e was
‘F;; A} rFT] ~ 13._ ~
R VAN R
R IT
£k S
DIgUANE R
oL E A

e v

BB PR

Bt (- #)
EEAEA
(2014) - B84
BOAE ST
¥ s W S
A RN
}g—, °

5E 7% ;17 (2005) ©
e E- BT
B o wH G

E\ﬁh- o

R %




ﬁ; lk};%ﬁ‘ o

ot ik g eh |3,

3% > 29(3) » 35-
36 -

R
5/6~5/10

5Lk
5/13~5/17

s-IV-13 12 fi2
N F
e 17 8 A2 0
foit o 3

S-8-12 = Hi¥
Bl e d

B I I
R E ~ Fl
£~ =2 225,

H Ao AR ITH

1. £ e £ 0 F% 4L

2. F i xitH® (Inverse)

3. M5 e R ITE R
1

1.
2.

B (- &)
B %4 3F

[ M 3
=4 3
LI b

b
<
P!
3

= E® 7

E-)




;E—‘_;L NS

Em2BY)

$L1%
5/20~5/24

RS
5/27~5/31

® o3 T IE

B o

FEVALSE RS
Fp e &

BN b TN

ERES T 8
i )
e 4RI AT
kyped et

D)

)

“EA% AB R
— BT R
L L) i 3
)

21z &35

=y @y
i

g

s
<
N

ek C i ¥ AABC

RS
6/3~6/7

ENETIPN F
6/10~6/12
(6/10(- )=

= iR

s-IV-9 12 i3

Z & A5 g
ﬁ;?ﬁg[’ﬁ& ) ?IJ

e Ry

FEE SR

B BZ A
e SR
A S
s L
¥ A F R

{go

=R

PEPR
(=) -

S$-8-5 = 4 )¢
PERYz
& 2503 % 2
% (SAS ~

SSS ~ ASA -
AA ~ RHS)

1.

2.

1)

(2)

©)

Bl ¥Vf=z 40023

M e % SSS
SAS ~ AAS ~ RHS 4f ¥
Brihr3d ~9 @4
AR Szl i

b 5% ‘—'"fa - ﬁ'ﬁf)@é
£ mF A ERAP
% o é%“?p“i’éﬁ:: & A5
I F 257

BB P M g T
A& 9

*'“4’;6:@.11}’95??

1 f (- #)

2. f ¥

3. 4f W7 (2019) -
Ko Bz &7
$unsle 4
T o o
3%, » 39(4) » 87-
92 -

-

4
6/17~6/21

oL
6/24~6/28

s-IV-9 12 iz
Z & A enif
ﬁ_Fﬁg]’f‘ 1) ‘TIJ
*if A

S-8-5 = &2
rERY
50> & X
Z_(SAS ~

1.

ooy = 4.113-‘]3”3{

A5 42T
* T

P 2 % SSS -
SAS - AAS - RHS 4 ¥

Numberphile 2 5
<All Triangles are
Equilateral> 4t :

https://www.youtube.c

AR

o
sl




(6/27(z )-
28(2 ); NN
Em3RY)
(6/28 % %)

B F = &3
L

SSS ~ ASA ~

7 IAA~RHS) ;

2RPR
(=)

§-8-12 = 1%
BEAwde

B AFE e A
SHRE S )
&~z 475
FEVELSE Rt
ip e £

P

EE
A e e am et
¥ Sk Chea

B oo

3. ¢ LM AT LM

.
9
m‘d

4, ¥ 7 4R ' jE_Youtube

11 Numberphile ‘e =2
4= @ All Triangles are
Equilateral

All
Triangles
are
'Equilateral???

__ AB*-BB* =4
I
AC*-CC* =A

RE Lo BAHmP Y D
TR Z M EAR2 (S ot
AR LE RS
PEBEHEOLR > BE
HNRP HFL e L
WP P I R P o

om/watch?v=Yajonhix
Y49

FEBRE




2o AHAREE G R LR s
W7 25 Emig (1T LE)
[JF > WA sLe > F3 i s !

(17 - 25 #5%

25 AT Rorh A parh o skdr X T

it p

¥

R

R

N

§ A

T Ao

R & 4

W EHARES AN -
(] @ v feh jEde @ ¢ % 2
KE T P

Py e A e g g E 2 Y A - R




